


S ozt o] I Fol A x Fof thste] A& giA ¢l A7
A2 A& BE 12 H?
2 1 2 1 2
& y= -2 ©y=-3¢  ©y=-g
1
® y=-3x? @y=6x2 ® y=2x?




3.

ojatt y = ax? + bx+c o 2 &7t o THN F2 o, a+b+c
o] 2 GupelZ}?

® -6 @ -2 3)0 @ 4 ® -4

B

x AHo] _3,1 0|82 y=qa(x+3)(x—-1)
y AHo] 30]E= (0,3) & HYstH
3=-3a

. @ ==l

wjeba Fohe A8
y=-(x+3)(x-1)=-x>-2x+3,b=-2,c=3
La+b+c=0




o]‘]-@-zl\_y:ax2+4x+c7]'x:—2%Uﬂ,gq

, a+c o] #= Fotodzh (2 a>0)

y=ax’+4x+c

25)
=al|\x"+—x|+c
a

x=-2d o M 3S7HAE=E
2 4

24+-=0, ——+c=3..a=1,¢=7
a a

“at+c=1+7=8




oA A 2 -
m+ln+1S%F
ol o, ab 9] F=

» £
> Hehl o

~&B

0}04 =t

2 -2x-3=0
x=3FE=x=
m+1l,n+1E

(x=3)(x+1)=0
-10122
ZA7F A E= () o] B2

PHax+b=04Nx=44x=02
a=-4,b =0 °|t}.
w2bA] ab = 0 o]t}

Hdstod elsta




A,B,C,D7I A2 g AL o, X2 +ax+b = AB, x*—ax+b =
CD & Ql5H5f Hrt.
(A +B) x+(C+D) x +4x+ 1 & A5E3|5}odzt,

x> +ax+b=AB = (x+a)(x + )
A+B=2x+a+B=2x-a

¥ —ax+b=CD=(x+a)(x+p8)
C+D=2x+a +p =2x+a
(A+B)x+(C+D) x+4x+1
=(2x—a)x+ (2x+a)x+4x+1
=4x2+4x+1

= (2x + 1)?




